
Assignment-3 

 

1. Find the general solution of the equation  𝒚𝒚′′′ + 𝟔𝟔𝒚𝒚′′ + 𝟏𝟏𝟏𝟏𝒚𝒚′ + 𝟔𝟔𝟔𝟔 = 𝟎𝟎. 
2. Solve   𝒚𝒚′′′′ + 𝟖𝟖𝒚𝒚′′ + 𝟏𝟏𝟏𝟏 𝒚𝒚 = 𝟎𝟎.  
3. Solve   𝒚𝒚′′ − 𝟑𝟑𝒚𝒚′ + 𝟐𝟐𝟐𝟐 = 𝒆𝒆𝟑𝟑𝟑𝟑 by the method of undetermined coefficients. 
4. Use method of undetermined coefficients to find the general solution of the equation 

𝒚𝒚′′ + 𝟐𝟐𝒚𝒚′ + 𝟒𝟒𝟒𝟒 = 𝟏𝟏𝟏𝟏𝟏𝟏 𝒆𝒆𝟐𝟐𝟐𝟐 𝐜𝐜𝐜𝐜𝐜𝐜 𝟑𝟑𝟑𝟑. 
5. Solve  𝒙𝒙𝟐𝟐𝒚𝒚′′ + 𝟓𝟓𝟓𝟓𝒚𝒚′ + 𝟕𝟕𝟕𝟕 = 𝟎𝟎. 
6. Find the general solution of  𝒙𝒙𝟐𝟐𝒚𝒚′′ − 𝒙𝒙𝒚𝒚′ + 𝟐𝟐𝟐𝟐 = 𝒙𝒙 𝐥𝐥𝐥𝐥𝒙𝒙. 
7. Solve the equation to find the general solution of the equation (𝟏𝟏 + 𝒙𝒙)𝟐𝟐𝒚𝒚′′ + (𝟏𝟏 + 𝒙𝒙)𝒚𝒚′ +

𝒚𝒚 = 𝟒𝟒 𝐜𝐜𝐜𝐜𝐜𝐜(𝐥𝐥𝐥𝐥(𝟏𝟏 + 𝒙𝒙)). 
8. Find the general solution of the second order equation  𝒚𝒚′′ + 𝒚𝒚 = 𝟏𝟏/(𝟏𝟏 + 𝐬𝐬𝐬𝐬𝐬𝐬𝐱𝐱), by the 

method of variation of parameters.  
9. Find the general solution of the second order equation  𝒚𝒚′′ − 𝟐𝟐𝒚𝒚′ + 𝒚𝒚 = 𝒙𝒙 𝒆𝒆𝒙𝒙  𝐥𝐥𝐥𝐥 𝐱𝐱 , by the 

method of variation of parameters.  
10. Find the general solution of the second order equation 𝒙𝒙𝒚𝒚′′ − (𝟐𝟐𝟐𝟐 + 𝟏𝟏)𝒚𝒚′ + (𝒙𝒙 + 𝟏𝟏)𝒚𝒚 =

𝒙𝒙𝟐𝟐 , knowing that 𝒆𝒆𝒙𝒙 is one solution of the homogeneous equation.  
  


